
How	
  long	
  does	
  it	
  take	
  light	
  to	
  travel	
  from	
  the	
  Moon	
  to	
  the	
  Earth,	
  a	
  distance	
  of	
  384,000km?	
  
	
  	
  
	
  "me	
  =	
  distance/speed	
  (note	
  the	
  units	
  work	
  out	
  to	
  be	
  units	
  of	
  "me)	
  
	
  	
  
=	
  384,000km/300,000	
  km/sec	
  	
  
	
  
=	
  384/300	
  seconds	
  
	
  	
  
A	
  source	
  emits	
  infrared	
  radia?on	
  at	
  a	
  wavelength	
  of	
  1060	
  x	
  10-­‐9	
  m.	
  	
  What	
  	
  
is	
  the	
  frequency	
  of	
  this	
  radia?on?	
  
	
  	
  
	
  frequency=speed/wavelength	
  =	
  (300,000km/sec	
  x	
  1000m/1km)/(1060	
  x	
  10-­‐9	
  m)	
  
	
  
	
  =	
  (3x108	
  m/s)/(1060	
  x	
  10-­‐9m)	
  
	
  
=	
  3/1060	
  x	
  1017	
  1/s	
  	
  
	
  	
  
The	
  reason	
  we	
  experience	
  different	
  seasons	
  is:	
  
____	
  The	
  Earth’s	
  orbit	
  around	
  the	
  Sun	
  is	
  an	
  ellipse	
  so	
  some"mes	
  we	
  are	
  closer	
  to	
  the	
  Sun	
  (summer	
  in	
  Santa	
  Cruz)	
  and	
  some"mes	
  further	
  
from	
  the	
  Sun	
  (winter	
  in	
  Santa	
  Cruz)	
  
____	
  The	
  Earth	
  spins	
  on	
  its	
  axis	
  
__X__	
  The	
  spin	
  axis	
  of	
  the	
  Earth	
  around	
  its	
  center	
  is	
  "lted	
  with	
  respect	
  to	
  the	
  orbital	
  axis	
  of	
  the	
  Earth	
  around	
  the	
  Sun	
  
____	
  The	
  gravita"on	
  aQrac"on	
  of	
  the	
  moon	
  changes	
  throughout	
  the	
  year	
  
	
  	
  
What	
  color	
  would	
  a	
  yellow	
  banana	
  slug	
  appear	
  if	
  it	
  is	
  illuminated	
  with	
  white	
  light?	
  
	
  Yellow	
  
	
  	
  
Suppose	
  the	
  par?cles	
  in	
  the	
  Earth’s	
  atmosphere	
  scaQered	
  red	
  light	
  effec?vely,	
  but	
  not	
  blue	
  light.	
  Which	
  of	
  the	
  following	
  would	
  be	
  true,	
  
which	
  false?	
  
____	
  The	
  daylight	
  sky	
  looking	
  away	
  from	
  the	
  Sun	
  would	
  be	
  black	
  
__X__	
  The	
  Sun	
  would	
  appear	
  bluer	
  than	
  it	
  does	
  with	
  our	
  current	
  atmosphere	
  
____	
  The	
  Greenhouse	
  effect	
  would	
  no	
  longer	
  act	
  to	
  heat	
  the	
  Earth’s	
  atmosphere	
  
____	
  At	
  sunset	
  the	
  Sun’s	
  apparent	
  color	
  would	
  be	
  no	
  different	
  than	
  the	
  noon"me	
  Sun	
  
	
  	
  
For	
  a	
  2900K	
  object,	
  at	
  what	
  wavelength	
  is	
  the	
  peak	
  of	
  the	
  Plank	
  radia?on	
  curve?	
  λmax(cm)=0.29/2900	
  	
  
	
  	
  



At	
  what	
  ?me	
  does	
  the	
  new	
  moon	
  rise?	
  Draw	
  a	
  figure	
  to	
  demonstrate	
  your	
  answer.	
  
	
  	
  
	
  	
  
	
  at	
  Sunrise	
  
	
  	
  
	
  	
  
Suppose	
  you	
  have	
  a	
  solid	
  gold	
  sphere	
  and	
  a	
  solid	
  silver	
  sphere	
  each	
  at	
  a	
  temperature	
  of	
  3000K.	
  Label	
  the	
  following	
  	
  
statements	
  True(T)	
  or	
  False(F).	
  
__X__	
  The	
  two	
  spheres	
  would	
  have	
  iden"cal	
  spectra	
  
____	
  Both	
  spheres	
  would	
  show	
  iden"cal	
  absorp"on-­‐line	
  spectra	
  
____	
  Both	
  spheres	
  would	
  show	
  con"nuous	
  spectra	
  with	
  the	
  silver	
  sphere	
  spectrum	
  peaking	
  at	
  a	
  shorter	
  wavelength	
  
____	
  The	
  spheres	
  would	
  show	
  different	
  absorp"on-­‐line	
  spectra	
  
	
  	
  
Star	
  A	
  has	
  twice	
  the	
  trigonometric	
  parallax	
  and	
  twice	
  the	
  luminosity	
  of	
  Star	
  B	
  (assume	
  no	
  dust	
  toward	
  either	
  star).	
  
a)	
  What	
  is	
  the	
  rela"ve	
  distance	
  of	
  the	
  two	
  stars?	
  
	
  Star	
  A	
  is	
  at	
  ½	
  the	
  distance	
  of	
  Star	
  B	
  
	
  	
  
b)	
  What	
  is	
  the	
  rela"ve	
  brightness	
  of	
  the	
  two	
  stars?	
  
	
  Star	
  B	
  will	
  be	
  (1/2)2=1/4	
  as	
  bright	
  because	
  it	
  is	
  twice	
  as	
  far	
  away	
  and	
  it	
  will	
  be	
  ½	
  as	
  bright	
  because	
  it	
  is	
  half	
  the	
  
luminosity	
  so	
  in	
  total	
  it	
  will	
  be	
  ¼	
  x	
  ½	
  =1/8	
  as	
  bright	
  as	
  Star	
  A	
  
	
  	
  
Based	
  on	
  the	
  schema?c	
  diagram	
  below	
  of	
  the	
  allowed	
  energy	
  levels	
  in	
  an	
  atom:	
  
__A,C__	
  Which	
  transi"on(s)	
  correspond(s)	
  to	
  the	
  absorp"on	
  of	
  a	
  photo?	
  
__B__	
  Which	
  transi"on	
  corresponds	
  to	
  the	
  lowest	
  energy	
  photon	
  emiQed?	
  
__D__	
  Which	
  transi"on	
  corresponds	
  to	
  the	
  shortest	
  wavelength	
  photon	
  emiQed?	
  
__B__	
  Which	
  transi"on	
  corresponds	
  to	
  the	
  lowest	
  frequency	
  photon	
  emiQed?	
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X	
  

E=mc2=1.3	
  x	
  10-­‐28	
  g	
  x	
  (3	
  x	
  1010	
  cm/sec)2	
  =	
  (1.3	
  x	
  32)	
  x	
  10(-­‐28	
  +20)=(1.3x9)x10-­‐8	
  ergs	
  	
  

10	
  n	
  addi"on	
  gives	
  66Fe26	
  ;	
  2	
  beta	
  decays	
  converts	
  two	
  n	
  to	
  p+	
  so	
  end	
  up	
  with	
  66Ni28	
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Mass/second:	
  m=L/c2=(4x1033ergs/sec)/(3x1010cm/sec)2=4/9	
  x	
  1013	
  grams/sec	
  
	
  

=4/9	
  x	
  1013g/s	
  x	
  60s/minute	
  x	
  60m/hour	
  x	
  24hr/day	
  

x	
  

x	
  

x	
  
x	
  
x	
  
x	
  

2	
  x	
  1032	
  grams	
  x	
  1018	
  ergs/gram	
  =	
  2	
  x	
  1050	
  ergs	
  

(2	
  x	
  1050	
  ergs)/(4	
  x	
  1033	
  ergs/second)	
  =	
  0.5	
  x	
  1017	
  seconds	
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Vescape=SQRT(2xMxG/R)	
  
Rsch=(2xMxG)/c2	
  
	
  

Rsch	
  =	
  (2	
  x	
  2	
  x	
  1030	
  x	
  6.673	
  x	
  10-­‐11)/(3	
  x	
  108)2	
  	
  (all	
  meters,	
  kg	
  and	
  seconds)	
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Hubble’s	
  Law,	
  velocity	
  is	
  propor"onal	
  to	
  distance:	
  Galaxy	
  A	
  is	
  twice	
  the	
  distance	
  of	
  Galaxy	
  B	
  	
  

Vescape=	
  SQRT[(2	
  x	
  Mearthx	
  G)/REarth]	
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z=	
  (λ0-­‐λ)/λ0	
  =	
  200/656.3	
  

Scale	
  factor	
  =	
  1+	
  z	
  =	
  1	
  +	
  200/656.3	
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